3500

3000

2500

2000

1500

1000

500

hhil

3000

2500

2000

1500

1000

500

u2_plane I

hhil

:— Entries 90027 4000 Entries 92032
- X2 / ndf 209.1/ 24 3500 |~ X2 / ndf 165.3 /22
- Constant 3505+ 18.6 el = Constant 3869 + 20.4
- 2500 |—
E Mean 0.009205 + 0.000920 o Mean 0.002527 + 0.000825
C _ 2000 | .
C Sigma 0.1775 + 0.0012 C Sigma 0.1633 + 0.0011
- 1500
2 1000
— 500
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h h 1 ud plane I h h 1

:— Entries 90193 3500 :— Entries 91939
C X2/ ndf 728.4/31 3000 — X2 I ndf 202.8/26
C Constant 2642 + 14.2 2500 - Constant 3417+ 17.8
E Mean -0.002571+ 0.001372 o = Mean 0.007618 + 0.000937
C Sigma 0.2485 + 0.0019 C Sigma 0.1883 + 0.0012
- 1500
C 1000
- 500 —
B 1 1 1 I L 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 N I 1 1 1 O : 1 1 1 I 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 A I 1 1 1
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x2_plane |

_ hh1 2o hh1

- Entries 93027 - Entries 93007
3500 |~ 3500

- X2/ ndf 340.1/25 C x2 / ndf 272125
3000 — 3000 -

- Constant 3402+ 17.7 - Constant 3465+ 18.1
2500 — 2500 |-

- Mean 0.004267 + 0.001051 C Mean 0.02388 + 0.00097
2000 |~ 2000 —

E Sigma 0.1981 + 0.0014 C Sigma 0.1885+ 0.0013
1500 [— 1500
1000 - 1000 -~

500 500 —
0 :I L1 I L1 I Ll 1 I Ll 1 I L1 1 I L1 1 I Ll 1 I L1 1 I L1 Al I Ll 1 0 :I L1 Ll 1 I Ll 1 I Ll 1 I 1 L1 I Ll 1 I Ll 1 I L1 I L1 1
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hhl x4_plane | hhi

- 4000 =

- Entries 90416 C Entries 92834
2500 — 3500 :—

C X2 I ndf 615.1/34 o X2 / ndf 364.3/25

C 3000 -
2000 — Constant 2461+ 13.2 C Constant 3577+ 18.6

- 2500

- Mean 0.01797 + 0.00153 C Mean 0.01499 + 0.00090
1500 |— 2000 -

B Sigma  0.2763+ 0.0023 = Sigma  0.1815# 0.0012
6| = 1500 -

- 1000

500— -
B 500 —
O _I 1 1 I L 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 Al I 1 1 1 O :I 1 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 Al I 1 1 1
-1 08 -06 04 -02 0 02 04 06 08 1 -1 08 -06 04 -02 0 02 04 06 08 1
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= 4000
E Entries 92841 : Entries 92508
= 3500 -
C X2 / ndf 226.5/25 C X2/ ndf 182.3/ 24
= 3000
E Constant 3519+ 18.3 E Constant 3637+ 18.8
= 2500
C Mean 0.007152 + 0.000947 - Mean -0.001392 + 0.000918
= _ 2000 |~ _
- Sigma 0.1869 + 0.0012 - Sigma 0.1807 + 0.0012
- 1500 -
— 1000 -
— 500 —
:I 1 1 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 Al I 1 1 1 O :I 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 Al I 1 1 1
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hhl v4 plane I hhl

- Entries 91193 - Entries 92135
- 3500 -
- X2 / ndf 313.1/31 - X2/ ndf 317.4/25
C 3000
C Constant 2805+ 14.8 - Constant 3532+ 18.6
= 2500 |—
C Mean 0.01213+ 0.00123 E Mean 0.008758 + 0.000891
C 2000 —
C Sigma  0.2349+ 0.0016 - Sigma 0.1797 + 0.0011
C 1500 [—
C 1000 |-
C 500 —
C 1 1 1 I I 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 A I 1 1 1 0 : 1 1 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 1 I 1 1 A I 1 1 1
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